
THE PACTOR ROBOTS IN THE PORTION OF THE 20 METER BAND IS A DISASTEROUS

IDEA.WHEN YOU FACTOR IN THE FACT THAT IT TAKES UP 2.5KHZ

AND LISTENS/USES 2 FREQUENCIES,COMBINED WITH THE OTHER PACTOR ROBOTS USED

IN OTHER COUNTRIES AND THE ONES ON THE WAY,THEN YOU ARE TALKING ABOUT

WIPING ABOUT 70 PERCENT OF THE PHONE SEGMENT ORIGINALLY ALLOTED FOR

PHONE.NOT DATA!THEY SHOULD BE CONFINED TO THE CW/DATA

PORTION OF THE BAND.ANOTHER POSSIBLE SOLUTION WOULD BE ANY OTHER PORTION

OF THE SPECTRUM THAT IS NOT USED BY AMATEUR OPERATORS!

OR AS I STATED BEFORE:THE CW/DATA PORTION OF THE BAND.

ISN'T THERE ALREADY ENOUGH QRN(MANMADE INTERFERENCE)ON THE BANDS AS IT IS

ALREADY?DON'T WE HAVE COMPUTERS FOR SENDING E-MAILS ALREADY?


